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Algebra Quest

A. Solve the following problems.  Show all work.

1)
-4 + x = 9

2)
12 = x + (-6)

3)
x – 4 = -9

4)
15 = x – (-6)

5)
6x = 24


6)
35 = -5x

7)
-12x = -36

8)
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B. For each of following problems, combine like terms to simplify each equation. Then solve the equation.

1)
3x + 2x + x + 5 + 2 = 9x + x + 3

2)
 -2x + 3 + 4 + (-x) + (-x) = 3x + 7

3)
x + x + x + 2x + 1 = 17 – 3x

C. Using the distributive property, rewrite the following expressions so that the multiplication is done first.

1)
7(12 + 8) 

2)
9 * (8 – 4) 

3)
x(7 + 3) 

4)
2(7 + x) 

D. Use the distributive property and combining like terms to simplify the following equations. Then solve the equations.

1)
2(y + 2) = 3(4 + x)

2)
5(x + 3) – 2x = 35 + 4


3)
7 + (5 – 3) * x = 5

4)
2(g – 1) + 1 = 9

E. Simplify the following equations, and then solve.

1)
6x – 2x + 4 = 40

2)
18 = (-2x) + 7x + 3


3)
x(6 + 9) + 2 = 32

4)
(4 + 5) * x – 3 = 15

F. Answer the following questions as completely as possible.

1)
Explain in pictures or words how you would use the algebra tiles to solve the following problem:  x + 7 = 12

2)
What are zero pairs, and how are they used in algebra?

3)
What is the goal of algebra?
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Fill in the following rate table using the structures above:

	x
	y

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	


What is the pattern for these structures?

What is the rule for these structures?
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